
TQB‐HK  計算:   sum(攻擊得分) x 3 /sum(攻擊出局) ‐ sum(防守失分) x 3 / sum(防守出局)

總得分 出局數 總攻擊得分 總攻擊出局 總防守失分 總防守出局 a b
KB11 Pirate 3 1 1 3 8 3 3 3 3 12

Spoonbill 2 6 2 x 10 3 2 3 8 Sheung Lok vs Dolphin 6 8 7 6
Sheung Lok vs Spoonbill 10 15 6 15

KB2 Sheung Lok 1 0 5 6 3 3 2 8 Sheung Lok vs Pirate 12 8 9 12
Dolphins 3 1 3 x 7 3 3 0 6 Sheung Lok 28 31 22 33 2.709677419 2 0.709677419

KB8 Sheung Lok 1 3 1 0 5 10 3 3 3 3 3 15 Dolphins vs Spoonbill 6 9 15 8
Spoonbill  1 0 0 4 1 6 3 3 3 3 3 15 Dolphins vs Sheung Lok 7 6 6 8

Dolphins vs Pirate 18 5 3 9
KB14 Pirate 1 3 2 3 9 3 3 3 3 12 Dolphins 31 20 24 25 4.65 2.88 1.77

Sheung Lok 2 6 4 x 12 3 2 3 0 8
Spoonbill vs Pirate 10 8 8 12

KB17 Spoonbill 6 5 4 15 2 3 3 8 Spoonbill vs Sheung Lok 6 15 10 15
Dolphins 3 2 1 6 3 3 3 9 Spoonbill vs Dolphins 15 8 6 9

Spoonbill 31 31 24 36 3 2 1
KB5 Pirate 0 2 1 3 3 3 3 9

Dolphins 5 6 7 x 18 3 2 0 5
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